ID:1210 P- 1

P g SR
ESR S TR = 1 =i Q1 IV NI )
By 3% 04412 H 28 H eI Dt e/ 82 kv (Biir)
fh 4 JE Hh & Wae | %K E=E i fiE T fE g2y ]
X R & JE 10. 00| AHxf 89 890| 1,188 983 540
% B | 1000\ Mt s00| 3,000 1,206 1,152| 1,080
EAS £ % 10. 00 | #856f 159 1,590 1,404| 1,151 626
HOR s 5. 00 | #H 5t 104 5201 5,508 4,632 1,080
ERSEaNe) o JE 12. 00 [ #A % 329 3,948 1,080 788 324
FEONAE (r— 4. 00 | FHxF 66 264 2,700 2,618| 2,160
H & 5 HL 3. 00| FHxf 89 267 1,998| 1,545 1,080
B A [ 1. 00| FHxf 265 265| 1,296 984 432
ENIEE soolfst| 7| 35 3,240 2,931 2,700
AN w5 2. 00 [ FH %} 85 170 1,296| 1,137 864
[ I\ w5 5. 00| FH%f 424 2,120 3,780| 3,449| 2,376
(= S 2. 00| FHxf 16 321 3,240 3,193 3,024
IR Ak L 2. 00| FHxf 10 20 9, 180
S5 - AbTEE 20. 00 | AHx} 48 960 2, 268
= @ | 10000 Mm%t U o] | 1,728
LA A It fE 10. 00 | #H%f 391 3,910 4,104| 2,012 70
=1 & & 4, 00| FH*} 425 1,700 1, 836 1, 405 1, 296
Tuyal— B 6. 00 | FH%F 170 1,020 3,672 3,394| 1,620
& | 6.00| fxr| 1 o] 6o | 3,456
AMEE (i 0. 10| #Hxf | 4, 150 415 292 223 65
ZDEH & ¥ 0. 20 [ A%} 2, 340 468 108 94 4
LU £ ¥ 0. 20 [ #Hx} 300 60 97 86 50




ID:1210 p- 2

P g SR
ESR S TR = 1 =i Q1 IV NI )
Rz 04412 H 28 H eI Dt e/ 24 (Biir)
i 4 JE = Wae | %K F e T fE g2y ]

38 Foak L 10. 00 | #H%F 549 5,490 4,296 2,720 2,160
5 U H & 10. 00| FA % 323 3,230 4,644 4,002 1, 944
Yajfa— H H 10. 00 | #H%f 100 1, 000 2, 700
bHFEED i 0. 27| FAx%F 1,318 357 1,609 987 648
S X EF I 0. 25| A%} 2, 559 645 864 618 324
BHDY S 5 0. 25| FA%F 691 174 810 618 378




